Math 304 (Linear Algebra), Section 2 Your nanme:

Quiz 8

November 5, 2010

1. Let Pol(2) denote the space of all polynomials of 2 of degree up to 2.
(a) What is the basis for Pol(2)?
(4, %, x)
(b) What is dimension of Pol(2)} (just state, do not prove)?
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(c) Prove that f(z) = z* — x4+ 1 € Pol(2) and g(z) = 22 + 2 + 1 € Pol(2) are linearly
independent.
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(d) Express h(z) =22 — 52 4+ 1 € Pol(2) as a linear combination of f(z) and g(z).

Mt( 1[1r§+ LX@\F@%ﬁ ‘_‘(‘k\) 6s UW CO b{md&%"f@r\
O{ M(‘() Cf\/v’\é —T(S>

VU e T U ol
SRS oy, |O 2 Y o | |72
Vo \ o v < o O |0

1
T
Thevefore, (W)= 2600 -2.4(4) |




